odele arque P D = P Poi1d . Ratio =
S
alandré 149 € Oie 700 EU 277 96 0,35 XSal
Rab 159 € Oie 800 US 0 110 0,34 XSaL
de ‘-}"fﬁ“é 163 € Oie 600 US | 396 130 0,33 36a42
3012 257 € Oie 600 US | 776 300 039 | 36a42
d e No ace 189€ Oie 800 US 0 85 0,37 XSalL
S 229 € Oie 700 EU 40 144 0,35 XSaL
5 dwe t_“";“]‘ 239 € Oie 650 US 772 244 0,32 XS a XL
239 € Canard | 700 EU 530 162 0,31 36 a44
quipme 269 € Oie 750 EU 510 220 36a42
3012 269 € Canard 700 US g 195 XSalL
e No ace 289 € Oie 700 US 680 150 SaXL
'1)"8"1"2 289 € Oie 850 US 410 180 XSal
= ‘3"3'“1@5 319 € Canard | 700 US | 600 280 SalL
e W (Rab 35€ Die 800 590 200 | xsax




